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ZRAUOIE 2ASY(BRAUNLESEE ) 1,253,212 1,071,672 181,540
ZRANDE a2y 74,500 118,000 743,500
201 Yot 2 bl 28,500 72,000 43,500
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022E 7Y 1,000,002 1,000 20,000 19,000
02 B2 27,500 52,000 24,500
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801 0f bl 1,178,712 953,672 225,040
01 L BHOIHI I 1,178,712 953,672 225,040
OZSAONTIE olblb| 1,178,711,670% 1,178,712 953,672 225,040
WegsS(HZDSD) 3,838,000 3,991,000 153,000
SHNE(ZLANTESESH) 3,838,000 3,991,000 153,000
JIErErE S 3,838,000 3,991,000 £153,000
802 & 2/t 3,838,000 3,991,000 £153,000
03 UL 3E 3,838,000 3,991,000 153,000
OYxEZ wraz 3,838,000,000%! 3,838,000 3,991,000 153,000




